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‘q,* . 50x1-= 50
- . )

T m&m Nos. 1 to 100 have Jour options, out of which only one is correct.
Answer any 50 questions. You have to mark
OMR-Sheet.

your sclected option on the

50x1] =250

1 cos60°+ 1 N
' cos 60°-1

J2 . B -2 |
- PR

~ - Q
2. q1g 13—=12°,?ﬁ acosccznmmm
2
(A) —= 4
3 B3
el 4 (D) 4J3
Il“%= 12°, then Lhc‘v&e of 3cosec? A will be
(A) — B Y
w%&@ D)  4V3
3. sin 54° — cos 36° =
\ytr 0 (B) 1
(C) 2 (D) -1
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4. cos 1° cos 2° con 3° .., cos 90 = [11
€ =1 -
(D) V2

cos37°  cot34°
sin53° ' tansge 1 M ¥

A 0. B
el 2 D) -1

The value of £2837° _ cot34e
sin53° " tansge '°

(A o B

ST 2 D) -1
6. 2(sin45°-c0s45°) =

N B) .1

X

) 2 (D) -2

v 7 cosec0-Tcot29 FHT &
@ 1 - 7
(C).— 49 O o

The value of 7cosec?0-Tcot?0 is

A 1 o 7

C) 49 o) o

1101-(28/30) " Page4of48

Biharboard_Questionpaﬁér".‘”&“B‘m


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/
https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

ﬂ (110]

8. alg sin 44 - Pyt tan AR N R

e i

T I e

L \fl - p" ll I
() L (D) J |+ pJ

J 1+ ;12 r

Il sin 48" = p , then the value of tan 48° is

T b R L s

l—p2 p

P J 1+ .z';2
(€) m (D) P

ae
.
9. % tan 27° tan 63° = sin A, A A H 0= & a
(A) 27° (B)_—63°
Jer” 90° (D)  36°
. If-tan 27° tan 63° = sin A, then the value of A is
i B) 63° 6
W?. & % (B) :‘ .}
5 ] o ‘_,.4-"/-
e’ 90 (D) 36 A
sin? (90°-0) +sin? 0
10. 2 20
cosec” (90°-0)-tan“0
\M B 0
c 2 (D) -1
1101-(28/30) Page S of 4!
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_.' v - o

[ 110

-

(B) FIHa W

() T (D) 9 § I3 T80
\w/ n riational number (B) an irrational number
(C) an integer (D) nonc of these

12, 192 F RTE AR 8 2 % UAE FL 2

(A} 2
\J,G'( 6 “/(p;-"s

What is the exponent of 2 in prime factorization of 192 ?

Ay 2 B 3

Jer 6 D) 5

|3, Tz WM OAREY a=bger, T a=72,g=8 7 r=0 &, A b T A

FLEM?

vﬁf/9 (B) 8
i 4

(€ (D) 4

If in division algorithm a=bg+r, a=72,qg=8 and r=0, then what is

the value of b7?

N B) 8

c 7 (D) 4
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15.

16.

Y\ L.’ # Tye
.-“_.,_ (B f“ia
5 ’ \4,{
" [110]

A [I%'IEE'“‘}'*HWWWW%?
2

(A) - 11
E e T

© %0 D) 2

Which of the following has terminating decimal expansion ?

2
A e 11
A 15 Jﬂl/ 166
hird 6
(€ 60 (D) 35

AR q T S [ & @ Frafeiga § § @ s e e
T E ?
(A) 8g+1 8 qaj/aqm vz

(C) 3 @ 8q+7 M5

If g is a positive integer, which of the following is not an odd positive

integer ? .
(A} Bg+l B~ 8g+4
(C) 84g*3 D) Bg+7
2R W Eal F1 Ho o Fan e 044
_ 7'>uLL
A) 0. B) 1 .

(D) 4
The HCF of two consecutive even numbers is

A) O B) 1

el 2 D) 4

i 1 101—123130}! Page 7 of 4!
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18,

19.

S Al F NV - 7 ——

[110]

i vy aivn st was s gz A Aot aiezn vt & 2

Ay rgeln de M e A
tS
(€ g e wy e

, ; i of
The num of o rational and an irrational number is which type

number ?

(A) An integer ,J,H‘l/ [rrational number

(C)  Natural number (D)  None of these
41 Ui A 8670 ¥ 3 TR HCF 17 ¥, T 3l LM F

\ "r) bl .

w2

" 102 (B) 85

) 107 Jp/sw

The product of two numbers is 8670 and their HCF is 17. What is
their LCM ?

(A) 102 5

B) 8
© 107 \9/ 510

Freffefian & 4 B i @@ e ?

\memﬁ \®0 (B) |25+25

(€) J49+49- 4 (D) J36+36 4 L

Which of the following is a rational number ?

\J"’/ J- 64 +36 B) J25+25

(C) J49 +49 (D) ,lae +36

1101-128/30) . Page 8 of 48
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!ﬁ:q 130= 15,8+ [Qq:_j 15-5‘3*0.5‘:‘“0“‘,{130.15}“

< '5°L%
- o

(C) 130 ) D) - -3 ‘::,C_)“K

¢
If130=15~8+10and 15=5» 3 + 0, then HCF ( 130, 15) will be

(A} 8 \.LB’/ "

(C) 130

20.

(D) 15

. L
L)
s, T Rk ) e ek, T e e O 2o

'2_-4"
, r
i B e 1 Ol6)
V
(C) 3ar +9r (D) 3=ar -2
o
The perimeter of a semicircle whose radius is 3ris 3;;:-2'_:-: % '}-{
(A)  3ar+3r Ja.p/an”ar P

(€ 3ar+9r O 3ar

22. Creaa & @ FRAE e T Wi T @ e
(A) | 07 M-s
(@ "75% 0,2

Which of the following numbers is not the probability of any event ?

(A) 0.?« \y 25

4
(C) 75% |8 3

- Page 9 of 48
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9

m [”"J

av e gl e gt oo, Lo 5ot aXaom wh oo

(A) ek - ey ity ey Me =0
JJ/HH vy () %00 1Al i

/
L7 an the complementary event of an rvent I then which of the

[allevweinnge 1a tpne
Ay k) - B)  PLE)+ PIE')=0
\M ') I'f:’s’]el () None of these

20 TR L v e | o TH A R w2
A) "0 1
M m 3

dor (D)

In throwing a die one time what is the probability of not

N|—

appearing, 2 7

A 0 (B) é-
S X © 3

25, (AP IR G2 T 52 A9 F U T 0§ AR U gd @ T

AT 1A 11 AR T ) iR En w2

X n
M 13 26
() ~:f—9 D) T | FI§ @
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A card i
IS drawn a random from a well-shuffled deck of 32 c2r2s.

What j ili
atis the Probability of Bctung a black king ?

A <L 1
13 J‘B’/EE

2
C =
© 39 (D) none of thess

-

26. 3% 24,27, 28,31, 34, x, 37, 40, 42, 45, 50 F1 FoEFT 357, 7 x 30
o4 &

dﬁ\//‘ﬁ (B) 36

€ 345 (D) 355

If the median of 24, 27, 28, 31, 34, x, 37, 40, 42, 45, 50 is 35, then

the value of x is

vm/ 35 (B). 36

(C) 345 (D) 355
27. WOHl ARERAT ARV A d § fewE R S s e R 2
"(A) O™ (B)  HIeETT

Mﬁﬁ D) TE R T

The cumulative frequency table is useful in the determination of the

following ?
\9/ Mode (D) None of these
lllOl-l2IIGOI| Page 11 of 48
e
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]
4 =

", FifeE 3 Sged w1 WY T 8 2

(B) HNT - IgS = 3 (WA + Hihge)
(C) TN - FgAS = 3 (TgeTT — HIegH)
(D) T @ S T

Which relationship is true for Mean, Median and Mode ?

B Mean - Mode =3 ( Mcan - Median|

ll“Jl

(B]  Mecan - Mode = 3 ( Mean + Median |
(C)  Mean - Mode =3 ( Mode - Median |
(D) None of these
29. [=feiEa famor | ages af @ g 2
i 0-10 10-20 20-30 30-40 | 40-50
AR 15 20 45 15 25
(A)  10-20 20 - 30
(C) 40.-50 (D) ¥ W &S A€
In the following distribution what is the modal class ?

Class 0-10 10-20 20-30 30-40 40-50
Frequency 15 20 45 15 25
(A} 10-20 Jg)/ 20 - 30
(C) 40-50 (D) none of these

lTOl-lnuaol Page 12 of
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g0, ML s, g e i, 1 A T

cy 3 iy 15

Ifthe mean of x 42,254 3, 4% 4 5 und 52+ 2 is 1% then the value

&

of xi4
\M L (s 6
c 3 ' () 15

3. A R, b)), B7H p0,0) 307 00, 2) F fRErE TETETE
¥, i FrEEA § 6w g
a=0 (B) a=12
C) b=0 D) 3HH A FE AR

If point R ( @, b) is on the line segment joining points P( 0, 0 ) and

Q(0, 2) then which of the [ollowing is true ?

\Jﬂ/,a‘ﬂ B) a=2

€ b=0 (D)  none of these

32, WA TAA x=2Td y=-3F Wawg fag %

(2,23 B) (-2,-3)

€ (2,3) : D) (3,-2)

i 1101-(28/30) Page 13 of 48
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. 1

|'|||r

e ntraight linen v =amd oy =

The point of intersection of th

J‘“/”‘"‘” (=23

€ (2.3) m (3,-2)

4 . &1
a3 tano- lﬁi i san 0 R R g (ﬁ'\) Al ) A-

a3 .
'!1 fp ‘:‘ :
\. s AN 9 .
1 ) t‘lb)
8 8 . ) ?
(A G (") 5 \ "“\,! ) ‘511 _u-ﬂ
W\

)
2. ??r}\'{‘

& gl
?P
\ w * &

Sl

If tanv= % . then the value of sin O will be \\"‘
s 8
J/ 15 o Az
17 8

34, T (tanv+cotd)=6. a tan®0+cot” 0 FH AH [

(A) 25 7

|) 2
24 T 34

If (tan@+cot0)=6, then the value of tan2 0+cot?0 is

@ 25 (B 27
24 y)/ 34

T sec0+1anf+1=0, Gl (sec0-tan0) T OAE

A1 B -1 ,"{

i O (D) 2

!lOl-qu Page 14 of 48
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[116]
B

If secO+tan04 1=0, then the value of (sech—tan() is

(A \JW/ 3

c 0 n 2 v,
(v ,
36. af% sin0=—{i_a-,?ﬁ cosce 0+cot0 T A & L '
,'f'a 1
A} 2+V3 | 243 &
c V2 Wor~ B
Il sin [}=3g_§-. then the value of cosec 0+cot0 is
(Al 2+43 B) 23
© V2 A
37. T J3tan20-3=0, T 6 T HA FW
W 15° B o
€} 45° (D) 60°
If V3 tan28-3=0, then the value of 0 will be
e 150 V[,B/SO"
(c) 4s5° (D) 60°
38. 13X sin 0 = cos 8, 00 <90°, T 0 & T ¢
(A} 30° Jm/ 45°
€ 60° (D) 90°
o _IM Page 15 of 48
k
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39.

40.

41.

da/l B) 2
© 73

If sin 0 = cos 0, 0<0 < 90°, then valuc i 0 is
(A)  30° By 4s°
(C) 60" (D) 90°

sin30° + c0s45° -tan60°
cot30°-sin45°-cos60°

\_w/—l @ 0

€ 1 o) 2

tan30° sin30° cot60° cosec3(® =

[11[]|

1
(A) 5 B V3
¢ _
@ == Jor L
2/3 3
it Plx)=3x3+x? 4+2x45, q(x)=x?+2c+1 ¥ M @ &
WIS 1 T §i

D) 4

U p(x)=3x>+x?+2x+5 is divided by q(x)=x2+2x+1, then the

degree of quotient will be

M 1 B) 2

c 3 o) 4

BiharboardQuestionpapér.com
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42. 'Tfﬁ?ﬁ Q{x]=312—7.\c+2 E’l, Gl g(_uaﬂ'm‘-‘rk

® -8 e 12
€ =12 D) o

If polynomial g(x)=3x?-7x+2, then the value of g(-1)is

" -8 B 12

€ =12 D) O

43. TR x?2-16 F AT &

J”/*"--" (B) +4,+4

(C) -4,-4 (D) T A FE T

The zeroes of the polynomial x2~16 are

W a4 B) +4,+4

€) -4,-4 (D)  none of these
M. TR plx)=xE3x+S F ITF o AXAE, A 4(asp) T H 2
JN/IQ B) -12
(C). 20 (D) =20

Il @ and B are zerocs of the polynomial Plx)=x2-3x+5, then the

value of 4(a+p) is

._UH/IQ B) -12

€) 20 (D) =20

| 1 lOl-(zu:ml| Page 17 of 48
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—~
H

l ||f]1

5. AR «2 -0y 420 F YRR B OPEAGH 8, A a F
7 @ -4
€ o o) -9
If the product of zeroes of polynominl x?-9x+2a is 8, then 1y,
value of a will be
\J}V’ 4 B -4
) 9 D -9
46. nﬁ'?ﬁtﬁ plx) FTH JF - | &, A p(x) ¥ UF WFES g
A x-1 B x4+ 1
1
© - O =L
If one zero of a polynomial p(x) is =1, then a factor of p(x) will be
A1 x-1 ij/'x+1
1 1
O % -
47, FeiviEa Sfes fam T $ e &AM - 3 TE {EE F
TRFH2E ?
M x?+3x+2 (B) x?+2x-3
(C) X2 =By (D) x?-3x+2

Which of the following quadratic polynomials has sum of zeroes - 3
and product of zeroes 2 ?

\_(‘i( x?+3x+2 (B) x?+2x-3

(C) x?-3x-2 (D) x2-3x+2
1101-(28/30) Page 18 of 48
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[110]

. o aby PO TR 0t 402, exad=0 & I B, A a Py "H

If @B,y are zeroes of the cubic polynomial ax® + bx? +cx+d=0, then

the value of a B v is

b
w2

B -<

a
© =2 wr’ e

49. TR (y2-3y+1)-(y5-4yd+y?+3y) MU
A 6 e 7
(c 3 (D) 4
The degree of the polynomial (y?-3y+1) - (y° -4y> +y? +3y) is
A) .6 ._(PI/'?
€. 3 (D) 4
50. 3 3x-2y=12 T 4x-5y=16 &, @
B x=4,y=0 (B) x=0,y=4
C) x=4,y=2 (D) x=1,y=10
_S—

]1 101-123!303| Page 19 of 48
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S1.

B

|1101
If 3x-2y+12 and 4x-5y=16, then

\JP/,=4._U=0 (B) R —

(C) x=q4, y=7 (D) x=1,y=10

g1 W wirravii % drater afs e T § @ U

R (D) % &R T
gy S )

If the graph of two linear equations is coin  lent linesthen how many

solutions do they have ?
(A) One solution

(B) No solution

‘Jﬂ/ Infinitely many solutions

52.

(D) None of these

R 2x - y-3 =004 12x+7y-5=0% e g W F AT

Tt w2
(A L TR e T
Y iop” st wee

The graphs of equations 2x= Y = 3

type of straight lines ?

ight lines
(A)  Coincident straight lines (B) Parallcl straig

‘Jp’:& Intersccting straight lines (D)  None of lhc_“_’__,__———""i

| ==’] e 20 of 4
il 1101-28/30) Pag

p » ,A
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53.

(A) -H& & WM (13) 1y A8 it

J‘?/ e faeg 3 st g D) A S

Which type of straight line will be the graph of x-y =07

(A) Parallel to x-axis (B)  Parallel to y-axis

Jg/ Passing through origin (D)  None of these

profefEd § | S fgur §HEOE ?

(A)  (x+2)(x-2)= x2 -4x3 ‘ﬁ%{xmﬁzs(.ﬂm

1
€  (22+3) = (5+x) (2" -3) (D) 2x+-§;=4x2

Which of the following is a quadratic cquation ?

(A) (x+2)(x—21=x2-4x3 49/(::4-2}2:3(_.:4-4]

(C) (2x2+3]=(5+x)(2xz-3] (D) 2x+5-=4x

5. WHET 262 + pr—3=0 F T 47 -3 B, W pF A &M

& 3 B 5

© 4 D) 6

: | 1 101—{2!!30]1 Page 21 ¢
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h

o

2 = sl
If one raot of the equation 2x*+ px-3=0 is = 3 then the v .,

p will be
Ay 3 J}l/Fv
c 4 (D) 6

56. k% fam ot & feg o @iieor ox? 4 3kc+ 420 F TR TEO

AN TAE ?
\JM/H B £7
€ =£9 (D) =6

For what values of k the roots of the quadratic equation

9x? +3kx+4=0 arc real and equal ?

Mift (B) =7

(C) +9 D) =6

57. x2 +3px+2p?=0 F YA o, p U T a?+p2=5&, A pF == ¢
(AP w3 B) 2
(C) 1 (D) +5

If «, § are the roots of the equation x? -|-:'.}::.vc+2,|::u2 =0 and a? +53 =3,

then the value of p is
(A) 3 B) £2

(€ %l (D) 5

1 101-28/30)] Page 22 of 48
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b

|110|

E Waﬁﬁﬂw a’p?x?-q2=0 & Ty g

. |
o L o L

s9. fzum@ WHETOT x?2 -15x+50=0 & Tl & 4m ud gl & UEAhA &

A &M
w3108 (B) 3:25
(C) *.\8 $50 (D) 5:3

The ratio of the sum of the roots and product of the roots of a

quadratic equation x? - 15x+50=0 is

J-l/s;lo B) 3:25

(IC) 3:50 (D) S5:3

‘ _l-=01-i:u:|oll Page 23 of 48
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[ 11
[]

60. aft fram wmitwo & et -5 wi - 8 @ fwm willarm d

‘_}a\‘Y/ AT HON45=0 (1) v ox 1 5=0

€}  x*-6n-5=0 ) x"+0x-5-0

If- 5 and - | are the roots of a quadratic equation, then the cquiti,

will be

y/ X 46x+5=0 B) x?-6x+5=0

(€)  af-on=5=0 (D)  x?+6x-5=0

Eﬁﬂ#@ﬁhﬂ%ﬁaﬁaﬁzwﬁmﬁ@iﬁ%

61.
\J;H/IO‘-'EI (B 35 o
© 2% (D) 40T
Il the radius of a wheel is -f:—f metre then the distance covercd in
2 revolutions is
( 10m (Bl 35m
(€ V22m (D) 40m
6. V3% & 0 I = rAw g9 0 cA0B =0, @ WU AB T @
T &
ar-0 nr
J‘ﬂ/ﬁ B 35
ary ar20
(© 180 (D) 360

1101-(28/30) Page 24 of 48
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ﬂ [110]
IfO1s the centre and r i the radius of u circle and ZAOB =0. then

the length ol arc AB s equal 1q

\/ xr;:)a 1B =ri)
8 i a60

.'rrﬂ 2
c Vil arh
€ 180 O  Z=
63 ﬁ&cmﬁm%mﬁlﬁﬁlcmﬁﬁrzﬁﬁ?mwma"v?
FgFAE ?
(A} 256 o 512
(C) 1024 (D) 376

How many solid spheres of radius 1 cm can be made from a solid

sphere of radius 8 cm ?

A) 256 JB‘Y/ 512
(D)

) 1024 576

AT € >
3
4 ' 5
’ | 3 (D) 200mcm
cm
Jpl/ o m. Then

the volume of con¢ is 3
(B) 300 cm

(A) 400w cm®

__ J;/ 100« cm3 Page 2-':3 of 41

(D) 200 = cm®
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65.

66.

| L1g, |
. |
e w7 & e 1 A B 4 cm A A B 3 om §1 7 g

ﬁ'ﬁTilOcmﬁ.ﬁ\quwmm

3
(A) 120 em® . (B) 220cm

3
€ 440 P (D) 1540 cm

The external radius of a metallic pipe is 4 cm and its internal radiug

is 3 cm. If its length is 10 cm, then the volume of metal is

(A) 120 em? (B) 220cm®
(€) 440 cm? (D) 1540 cm®

TF A% 3R 0% @67 & MR & SI6 GO € 3R I U &

% W T § 1 AR I W w2 @, o viE 9 ke Se Y

(A) 2T (B) 33X
C) 4FRT ' (D) SHR

LY

+Thelareas of bases of a cone and a cylinder are equal and their

curved surface areas are also equal. If the height of the cylinder is

2 metre then the slant height of the cone is
(A} 2 metre (B) 3 metre

(C) 4 metre (D) S metre

[1101-28/30) Page 26 of 48
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. » "T‘T
I ﬂ "rﬂl 'Jq :;-f Shqflq l?lil"n 3 i'.‘ ‘n 11{ ';— ir{rrr n'a' g]':! I'F f]] ”

Ldrdl i m
vw/l V3 B 5:42
o 25:43 D) 15:43

[f the volume of a cube is 125 cm® then the ratio of the side of cube

and diagonal of the cube is

yy/l:ﬁ B) 5:43

© 25:43 D) 15:43

(C) 21lcm (D) 22cm

* If the total surface area of a hemisphere is 462 cm? then its
diameter is

(Al w7 cm \‘(B-l/ 14 cm

© 21cm (D) 22cm
B % aor @ Bremall @ ogW 2 : 3 € T IR FARA W AW
. S:3TE IH I F A T
1 (&) 27:.20 _J.BJ/ 20:27
949 D) 9:4
I 1101-(28/30) | ':Pge‘ 27; of48
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70.

Tl.

[ 110
The radii of two cylinders are in the ratio 2 : 3 and their heighs ﬂ:L.l

In the ratio 5 : 3. Then the ratio of their volumes is

W 27:20 o 20:27

(€ 4:9 (D) 9:4

3R el M ) o 3 0 @ e & @ T e @ s

(A] 311711 \E)/ 61]-,11

S - 27"?"

If the radius of a sphere becomes 3 times then its volume will become
(A) 3 times (B)

(C) O times o
3 (15, 8 )@ 7 fag @ gt 0 0f

(A}« 15 (B] 16
.M/ 17 (D) 18

What is the distance of point ({ 15, 8 ) from the origin ?
(A) 15 (B) 16

\_LQP/ 17 (D) 18

|1 101—m;301| Page 28 of 48
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r'

(110]
9 me'h-ammﬁﬂﬁﬂﬂﬁﬂf{nhqnm':r:ﬁ*-'.f?
Al (2,2) B) (4,1)
(€ (3.4) ( (5,7)

-h of the
The graph of the straight line y = 2x - 3 passes through whic
following points ?

@ (2,2) B (4.1)
C (3.,4) JD)/IS.'?I

0 i : T %
73 x.mqtazfaqsﬁham-z,omma,o; |/ TS W,

0
A (0,2) JBl/l?.l

© (3.0] o) (0,3)

1 -2,0)
The point on x-axis which is equidistant from the points [

and (6,0)is

0
A (0,2) @ (2.0)
(C) (3,0) (D) (0,3)

74, y-m#fwg'(zs.ls;ﬂgnt
\)‘(13 B 15
c 2 D) 28

The distance of the point ( 13, 15) from y-axis i3

JA‘( 13 (B) 15

) 2 (D) 28

lllDl-m;mI Page 29 of 48
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m [llUr

75.  Toet gu & arm & AR & PRV (- 10,6) T (6,- 10) ¥ & 3w 5
F% & fwiw o

(A)  (-8,-8) B) (-8,4)
JE((—-z.-zJ (D) (2,4)

The coordinates of the ends of a diameter of a circle are (=10,6) and

(6,=10). Then the coordinates of its centre are

(A} (-8,-8) (B) (-8,4)

ef (-2,-2) D) (2,4)

76. A fFet Bop & vit & Pdwiw (2,4, (0,6) @ (4, - 1) &, @

e & % & fvie e
& (2.3) ® (3,2)
© (3,3) © (22)

The coordinateés of the vertices of a triangle are (2,4 ), (0, 6 ) and

(4, — 14+ Then the coordinates of centroid of the triangle are

_MON2,3) B (3.2)

€ (3,3) D) (2,2)
77. fag(13,19)F x-3 W T 0 &F F oG ¢

(A) 13 vuap/ 19

(C) 32 (D) 6

[L101-@s/a0)] Page 30 of 48
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(
ﬂ . | 110]
The length of perpendicular from point ( 13, 19) to x-axis is

A) 13 B 19

c 32 D) 6

78. (%3 (-2,8) T (-6, -4 ) e w@Es @1 v fag &

waaie 9 faa & 2
(A) R o
(CL 7% (O I

The mid-point of the line scgment joining the points (- 2, 8) and

(-6, - 4 ) lies in which quadrant ?

(A)  First ‘9/ Second

(C)  Third (D)  Fourth
70. af% P(0,0),0(8,0)T@R(0,12) frdt APQR & 3 €, A1 APOR T
STF €
(A) 40 _pr” a8
(@) 20 D) 4

IFP(0,0) Q(8,0)and R(O, 12 ) are vertices of any APQR , then

the area of APQR is

(A) 40 (B 48

(€ 20 (D) 4
Page 31 of 48
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g
—

[“'.']I

D) Pivgor A 2l Kol (gl (0,6), (0.0) 04 (8008,

Nagor @ utink gl

o)
(AN J,U/ 24

() wnid ot Tl

(& 42
rinagle nre (0, 6 ). 0, 0) any

The cvondinates of the vertices of a t

(8, 0). Then the perimeter of the trinnple is

W1 \y/ 24

(S I (D)  none of these

(! ~sinto)=

‘A«( cos” O(l+ sin? V) (B) cos20(1 - sin? 0)

(€)  cos o[l -cos?y) D) sin?0(1+sin?0)
ABCE X, YRR S AB 3R Ac W @ fg & @ xy | BC 13

AX: XBw2 : 3,71 AY: YCH HIF @M

Ay 3: \ﬁ/‘;’:.’j

(€) 1:3 (D) 3:1

(]

In AABC, X. Y are two points on sides AB and AC respectively and
XY BC.IfAX: XB=2: 3, then the value of AY: YCis

(A 3:2 \_(B}/Q:s

€ 1:3 D) 3:1

1101-128/30) Page 32 of 48
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v

ﬂ o [110]
» & @ gl & e @ AT 121 : 64 7, Al 3TF T HOAFA

1 A €
)’/”:8 B) 8:11
() 121:64 (D) 12:91

The ratio of the areas of two similar triangles arc 121 : 64. Then the

ratio of their corresponding medians is

._,W/llzs (B) 8:11

C) 121:64 (D) 12:91

84. ﬂwﬂﬁﬂiﬁﬁiqﬁmm: 30 cm 3R QOM%IHﬁ%ﬁﬁ‘Tﬁaﬁ
T e 13cmﬁ.fﬁ{aﬁﬁqﬁﬁﬁﬁwzﬁ\é‘q’r§ﬁrﬁ

(A) 10 cm (B) 8cm

() 9cm (D) 12cm

Thé. pcrimeters of two similar triangles are 30 cm and 20 cm

respectively. IT the length of one side of first triangle is 18 cm then the

length of corresponding side of second triangle is
(A) 10 cm (By 8cm

(C) 9cm (D) 12cm

,“ | 1101 -muam] Page 33 of 48
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85, w AT f @ e 36Y3em” € T TR R Iy,

(A) 6 cm (B) 343 cm

‘Je/ 12 em (D) ﬁ cm

A ; 2 .
The arca of an equilateral triangle 1s 36v3 cm®. Then its side iy

(A) 6 cm (B) 3J3 cm

_)2( 12 cm (D) V3 cm

g6, 3 Wherd gdl @ IwarTs wR@sl w HEA e g ¢ o

Ay 4 B) 2

e o 3 |

The number of common tangents of two intersecting circles is

(A} 4 B 2

-Ad/l o) 3

g7\ Vaw gm e B 7 em ¥, Tl A fag p @ wet Y@ pra AR
24 cm ¥1 3% OFTW T F% &, A op F wars T Al 2

(A) 30 cm (B) 28 cm

_Jpl/ 25cm (D) 18cm
——— 8
Il lUl-gn;nll Page 34 of
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r .
ﬂ [110]

A circle is of radius 7 cm. From an external point P length of tangent

PTis 24 cm. If Ois the centre of the circle, then what is the length of
oP?

(A) 30 cm (B) 28 cm

-49/25 cm (D) 18 cm

- -

8. Tmmﬂm’iPﬁQﬂmEﬁlnﬁwwmﬁéﬂﬁ 17 cm €, @
pd 3E g W Wi T ZE T v A e
(A) 34 cm tB]' 51 cm

vu;(l?cm o i cm

From an external point P, length of one tangent drawn on a circle is

17 cm. Then the length of other tangent drawn from P to the same
circle is

(A) 34cm B) Slem

yl‘i'cm (D) %cm

89. uﬁ?ﬁﬂ?ﬁﬂﬂﬁgﬂ%aqqaﬁzmﬁmmaﬁ#ﬁtﬁ.ﬁiﬁi

g 1 A E
\w/moaﬁﬂrﬁ @8 1507 A
) 1257 el D) 200 @ AH

Il lDl-:,:uaoli Page 35 of 48
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H

racliun 7,
If the area of minor nector of a circle with radiun 7 S L:
14 square cm, then the aren of major nector in

(A) 140 aquare cm (B) 150 square cm

(C) 125 aquare cm (D) 200 square cm
90. F A F &AFA 154 cm? y i garE 7 R
\J/ 14 em (B) 28cm
(C) 7em (D) 21cm

The area of a circle is 154 c:m2 _Then ita diameter is

dx)/ 14 cm (B) 28cm

(€) 7cm : (D) . 2)cm

91. fzum wmTn x2 4 ax+b=0 1 FETF &
\_u./ 16 - 4b (B) 4b-16
(C) b2-16 (D) 16-b?

The diseriminant of quadratic equation x? +4x+b=0 is

M 16-4b (B] 4b-16

€ b*-16 (D) 16-b?

(A)  0-4,044,0444, .. B) 1,11, 111,..
(€]  2.4,8,16, .. o 0,-4,-8,-12, ..
1101-(28730) Page 36 of 4
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d

ﬂ (110
which of the following are in A 2

(A} 04, 0:44, 0-444, (T PR R N P

(€)  2,4,8,16, .. Br”0,-4,-8,-12, ..

g3, MM 9@ Ji8, J50, Vo8, /162, ... F1 UM 3 &

N 2 B 22

{C) 3 (D) 243

The common difference of an AP. JI_B._ J50, m, J162 , QAs
Ay 2 qa/ 2/2
) 3 D) 2/3

94, THR %31 2,5.8, 11,... H1 11 8 95 T @MW ?

(A) 24 ’ (B) 30

_ef” 32 D) 14

What is the 11th termofan A.P. 2,5,8,11,...7

(AP 724 (B) 30

JZ( 32 (D) 14

95. g fadll WHIGR 9% & ndl 9§ 8n -2 &, O 30 UG F Weal T @M

_,m/ 54 (B) S0

(C) 30 (D) 40

l 1 101-[nu13u)l Page 37 of 48
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R

_ 2, then 7th term of the A p, ;¢ | I

-f\.q'ﬂ ]

,fﬁ'—; ",, =5

o is 8
If mh term of an A.P. 18 n

-

JA/ y . | 50
45 &

(D) 40
(€ 30  _¢ga-

96. ﬂﬁﬁﬂﬁﬂﬁ‘iﬂiﬁﬁ a39 =020 =50 ﬁ,ﬁﬂﬂﬂméaimm

. )
w a4 Y ® 19 5'@

> al ‘P"@ o 0 se_§

-50 then the common difference.of the 4 |

so~(%,

Ifin an A.P. @40~ A20

15
™ 4 »

J{s | .o 10

97. 'ﬂﬁ'{[Qx-ll,{3x+2}'ﬂ.ﬁ‘(6x-l]ﬁﬂﬁm5}a$aﬂmﬁ

_C
5 A WA AW @‘_5 29
qy/a @”{qm 2 wr
N 4 | D) 1

If(2x-1),(3x+2)and (6x- 1) are three consecutive terms of @

A.P., then the value of xis

W’ @

€ 4 D) 1
— __---".f';;
1101-128/30)) Page 38°¢
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(-

[110]
? it 54 2, 6, 10, 14, ..., 82 W T T FAT &
I? e
A 15 o 21
€ 20 D) 22
The number of terms in an A.P. 2, 6, 10, 14, ..., 821is
w15 e’ 21
() 20 (D) 22
g9, THIT 531 72, 63, 54, ... F BT T A €72
(A) 87 491/93'1
© 104 D) N
Which term of the A.P. 72, 63, 54, ... is zero ?
(A]  8th g~ om
(C) 10th (D) 1lth
100. fagai pages 0, 0) T (0, asin0)F ARG E
\J_A/a (B) 2a
(C) 3a '\_(}]/‘Ta
Distance between the points (acos 8,0)and (0, a sin0)1is
\,W/ a _ B) 2a
€ 3a D)—a
|1101'Iﬂa'30|| Page 39 of
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hy,
m g - ¥ [BECT]OH-B
Answer Type Questions

Short
g vt S / |
ﬁﬁ#fa’wﬁ Ismm‘fm

T d
gy @ear 18 30 T4 w & N

— it &1 £
vl wvT & forg 290% :

swer Type Queslions, Ay,

Tis
'

o 30 are Short An

Question Nos. 11 .
' rks- v 2 .
n carries 2 ma ,

15 questions. Each questio

% Fg e & feg Fed
g 2

3x+y=1 T (2m=1) x+(

1.

m*lly""gm"'l ]

For what value of m, the following pair of lincar cquations hgs ,.

solutions ?

3x+y=1 and (2m-—l]x+(m—l)y=2m+1

bt R & 3t SRCEE & 1 95 3 T I 4 % TR E M € 30 2
s s A ECA R 1w ¥ A A 7 R @ AR T A
T e | )
IF1 is added to the numerator and denominator of a [raction i

becomes equal to 4 and if 1 1s subtracted from its numerator an

denominator it becomes 7. Write the equations for these statements.
3, fourd g3 & YA H FHEOT 6x2 +17x412=0 & g F@ A ]

Using quadratic formula find the roots of the cquatiod
6x% +17x+12=0.

— ____..--":!
1101-128730) page 40 of
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-

ﬂ bt 79 1 a0 03 cm | T W Gl TS KETeA T H 2

4.

(110 ]

The diagonal of a cube is 943 cm. Find the total surface arca of cube.

frdt A6 & .HMT ST 42 om T FE 10 cm ¥ THE AT

5.
7 AT T | 2
The base diameter of a cylinder is 42 cm and height is 10 cm. Find its
total surface area.

6. ﬁﬁ;m—s,mmﬁQ(a.-slﬂﬁﬁqﬂﬁmﬁt@mﬁ‘lhﬁl—-‘hﬁl
fea oo o i fawfom S E 2 2
In what ratio does the point ( - 4, 6 ) divide the line. segment joining
the points P (-6, 10 ) and O (3, - 8 ) internally ?

7. m%%.%,f—z,...wwqﬁﬁmmaﬁl 2
Find the sum up to 19th term of an A.P. %,%,—1%.

g, WER 34 13, 17, 21, ..., 89 & 3id ¥ 7 & UL T FH | 2
Find the 7th term ffom end of an A.P. 13, 17, 21, ..., 89.

9. 03I 50 % Sm.&! fau WEAE F AR PRl 2
Find the sum of odd numbers between 0 and 50.

10. ¥ Tea T & e fagd (1,1),(3, k) AT (-1, 4)W@E 2 2
For what value of k points (1, 1), (3, k) and (- 1, 4 ) are collinear ?

11. &t fF cos?10° +C0;2 20° + cos230°+cos? 40°+cos? 50°+

cos? 60° + cos? 70° + cos? B0 =4

2

i 1101-t28/30) l Page 41 of 48
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]
Prove that cos210° +cos?20° + cos? 30° +cos? 40°+ cos? S0° ., '

2 cne 2
cos”“ 60° + cos 70“”"“:8{}-“

12. 3R cosA=2 ¥, A cotA+sin AT HA T HL |
. 5 2
Ir md=%, then find the value of cot A+sinA.

13. 2_ ,aaB
TR a, p el oo 2O 4x? - 4xe1 F EE @ pte M im
F1I 4
If @, B are the zeroes of a quadratic polynomial 4x2-—4x+l.thcn fing
the value of5+2.

B a

14, foum TEWR ay? -4y 1 & Y T B GES AR R
mﬁﬁmﬁl 2
Find the zeroes of the quadratic polynomial 4y2 -4y+1 and verify
the relationship between the zeroes and the coefficients.

15. THEO Fem 3x-2y=12 W 4x- 5y = 16 F TaE fafy ® &=
Exd 2
Solve the system of equations 3x-2y=12 and 4x — Sy = 16 by
cross-multiplication method.

16. JaewtfE secB . cosec = tan0 + cotf. 2
Prove that scce.coscc9=tané+cotﬂ.

17. 3 U B F WY G T ¥ IR W 6 o = wiwea &
gt 2 . 2,
Two dice are thrown simultaneously. What is the probability of
getting 6 on both dice ?

|1 lOl—puaq| Page 42 of 48
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. pretferad e &1 I I He 2
: g 2 3 a 5 6 10 "
Clreiral 6 4 9 6 13 11
Find the mean of the following distribution :
variable 2 3 a4 5 6 10
Frequency 6 4 9 6 13 11

19. Wmﬂﬁﬁ“ﬂscoﬁgmmﬂ:a%qmmsqm&ﬂ?@m
cD i FWWW%I&@&%MEQ#MFBW?I 2

In a parallelogram ABCD, E is a point on the extended part of side

. - 4 0
AD and BE intersects CD at point F. Show that AABE 18 similar T

ACFB.
aﬁﬁmﬁ&gﬁﬂ:aﬂmmﬁaﬁfﬂ:
Fatmad €| '

wt fm ¥ A
2

20.
If the areas of two similar triangles arc equal then prove that these

triangles are congruent.

ferel gaB AR o T I9F! TF el OR, 130° T 0T T &1 Q K

R-ﬂﬁwﬁmﬁﬁ%pwﬁaﬁﬁl ZOPR &\ W &l | 2

21,

The chord OR of a circle makes an angle 130° at the centre O of the

circle. The tangents at Q and R meet at the point P. Find the measure

of ZQPR.
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22. [ l l(‘] I

T & faeom qeifor @1 wam w5 365 T 12450 7 RO o 4,
Cad )

Using Euclid's division algorithm, find the HCF of 365 and 12450

\}/ﬁzaﬁ% 5-2J3 & oftdy vien =7 ¥

MY

Prove that 5-2J3 is not a rational number.

24. A(xlﬂ

3x?+x?4+2x45 ¥ B(x)=x2+2x+]1 ¥ WIT 3 W TR 3
w2 ”

2

What is the quotient when Alx)=3x7 +x242x+5 is divided by
B(x)=x?4+2x4] ?

25. k% 19 A & A G 20 s ks 320 & A W E )

2

For what values of k, the roots of the equation 2x? +kx+3=0 ar.

equal ?

26. fGum W22 - 4x4320 F Frdew T = AR qE W G
AT | 2
Findthe discriminant of the quadratic equation 2x2-4x+43=0 and
also state the nature of roots.

27.

ferlt Tmiet 49t #1 8 &7 wg -~ 23 ¥ A 1271 %% - 39 %, @ 3 ¥ ww
e fadig oz =i et | 2

The 8th term of an A.P. is - 23 and its 12th term is - 39. Then find

the first and second terms of the A.P.
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28.
0T T @M ?

what is the angle of clevation of sun ?

(110)

oz 12 m $9 T F o1 qfH W 43 m F TR & @ o I

2

If a pole 12’m high casts a shadow 4J3 m long on the ground then

s, UF TE F U F G H A | A ¥ 4 5 g2 g

T S T B

The length of the hour hand of a clock

by the hour hand in 4 hours.

2 .

is 1 cm. Find the ardswept

40, A% UF JEIAHR Ga H AW mcmu’l.?hmmmﬁt 2

If the diameter of a semicircular field is

iﬁﬂ 3I90a UYH / Long Answer Type Questions

14 em then find its arca.

o T 31 ¥ 38 A I w1 T ¥ R 4 WEA & I T WEE

A & forw 5 i FraifE

4x5=20

Question Nos. 31/'t0"38 are Long Answer Type questions. Answer any

4 questions, Eagh question carries 5 marks.

4x5=20

31, XfEw RO g x- y= 1 A 20+ y = 8 F G Wi AT T LN

S

Draw the graphs of the pair of lincar equations x - y = 1 and

2x+ y = 8 and solve them,

1101-(28/30)
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33.

34
e

35.

&

W N w528 M2 K1 IR A IOA gy o
| m 3ifirw ¥ amaa & sfard 3l =g @ S :

The area of a rectangle is 528 m?. Its length is 1 m mo, thin
(VTR

o

its breadth, Find the length and breadth of the rectang|e,

fax &t fr 2 wowg BopEl & ool &1 39 T we
H - 3

FIT & FEA {2 |

Prove that the ratio of the perimeters of two similar‘triangj., o

samc as the ratio of their corresponding sides.

oz =1 fip (secO-tanb) =1+2tan?8-2secOtan0.

7 i (secf+tanb)

(sec0-tan®) =1+2tan- 8-2secOtanf.

Prove that ————
et (secB+tanf)

T & fet w s w ¢ W e W 3w 39 W o g
oo e % @H | 60° TV AT €1 NS 9% HEH U9 5 =

16.m 8 ST & O & 45° T BV GAGT €| F& B H918 w701

A man is standing on the bank of a niver. Just in front of it on &
other bank there is a tree whose top makes an angle of 60° from t=¢

place. When the man moves backward 16 m, the tree makes &

angle of 45°. Find the height of the tree.

—
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} [110]
| ‘ 4

o A e aiA & w ¥ ek s s e A @?‘m

soiriiel 7R 14 cm & T T A FA T 13 cm ) 70T H

5
qtaaamaam?m

s

: : llow cylinder

A vessel is in the form of a hollow hemisphere with @ ho
: total height

on top. The diamcter of the hemisphere is 14 cm and the

vessel.
of the vessel is 13 cm, Find the inner surface arca of the

a7, 41?m"|ﬁ=-ﬂ1?mqﬂmqa:m%@1-qm:ﬁa\ 5
A #

TR 60°. H B

i f radi ich makes an
Draw a pair of tangents to a circle of radius 4 cm whic

angle of 60° with each other.

: 5
qg, (qeATeEa ded H ages W o
- 3 020 | 20-40 | 40-60 | 60-80 80-100
Al 5 6 16 12 11

Find the mode of following distribution :

Class-interval

0-20

20-40

40-60

60-80

80-100

Frequency

5

6

16

12

11

fitgre & 3 are aite werat sifibaree

FaYel AU, Alee 9ue, siide-dl,

UI&Iehdl, siled, Fieh See, He-31 3

Hfaewme udien uss ua snfe & f3e...

illOl-m;:m]
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